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SN A
M ANE ASHZY T4
CHe Al EH| A Chel: ® &)
- _ _ RE]
A E= . a2 (3H) - HEAY - B A= %Eﬁ HR=2
s 2 +g 2,940
S AAIRIREE 70,000 *7H *23] 980
DExeme YIS
70,000 *7H *23] 980
CREFUDANY AR
70,000 *7H *23] 980
SSFY 2AN BE 2,435
22 nNE XNJH Y 2ZASE 2,435
HEYEY HEY L NI VEMHA 2
b=} 300,000 x4 x10& 12,000
3BANEE NES A8 AEHZAF
288,000& x10 2,880
301 et M= 14,250 33,600 A 19,350
12 JIEtE2 &= 14,250 33,600 A 19,350
ZESFE AL EY2A 12,000
ZAIER2E 2D =
300,000 x4 x5 23| 12,000
DEFY BFAG S 2Y
150,000& *5H x33| 2,250
402 IV X201 & 50,000 50,000 0
01 CIZEXIEANYEXZ (M) 50,000 50,000 0
=2=F 22 I 10,000, 000& *5AH 50,000
BIE EHHIALS (HIDIE HALY) 12,000 22,000 A 10,000
401 AlEHIZ 2 0HY| 12,000 20,000 A 8,000
01 Al& B 12,000 20,000 A 8,000
HOIEAANE 12,000,000& 1= 12,000
HES2AAH (A=Y 99,170 78,908 20,262
Jl2 &l 99,170 78,908 20,262
Jl2&H| 99,170 78,908 20,262
201 et 14,750 11,828 2,922
01 AP 2t 2] d| 14,750 11,828 2,922
SFAHSEH| 3,400,000 *95% 3,230
2ge2x=x 34| 8,000 x5A1x243 x 128 11,520
202 o4l 80,640 63,840 16,800
01 2Ll 80,640 63,840 16,800
A2 =& 0 280,000 x24H x12& 80,640
203 & R =&t 3,780 3,240 540
04 EANSIE LR F=XH| 3,780 3,240 540
EASHEHYRFAH| 350,000 x12& *90% 3,780




